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3. Solve each trigonometric equation for Akl-pessibte-sotttions. Round answers to three decimal places. M\“"'('-f(}, ?3)
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i Sin (-—0. 55) sin(x) = 0.65 Sin"(o. 05) sin(x) = —0.83

w-p= 4. | A

cos(x) = 0.49 CﬂS"(o"H) cos(x) = —0.21 cos(x) = —0.91
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tan(x) = 0.98 "“"q(o‘(‘ﬂ tan(x) = 3.2
P=0.75
TP 2,917

Problem Set: Fwe Soluckion $ »
Solve each trigonometric equation for Att-pessibleselutions. Round answers to three decimal places. r
sin(x) = —0.51 cos(x) = 0.75 f

|

i

cos(x) = 0.19 sin (x) = —0.81 cos(x) = —0.21

= 1.7%2
2r-p= 4.50]

m-v= % oy
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tan(x) — 1 = 0.98

tanbl2 199 S NK)

3cos(x) — 1 =0.19

3cos®)=].19

w5 R= 0.396666
os™'(0-39666)

J

T —————
0211063
g | 2q-p= 5120
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sin(x) -2 =-1.2

Sn k)= 0-9

4tan(x) — 10 = —0.81
tHan (K) = 9.19

fan () = 2. 475
o' 2- 2975)

/

P=1)bo
T4P= 4. %02
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3cos(x) = —2.83

C‘fOC): -0.943333
Cos“éO,q"'3 33)

P- 2,803 D
r-?=3.4%0

3sin(x) = —0.21

yinlb > ~0.07
sia'(-0.07)

J ,

P~ ~0.070

r-pz3.212
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